HIWIN

K99TE16-1904

2.9 KKSeries

2.9.1 Without cover
KK30

40 2xn-@3.4 THRU,06.5x2 DP
2%2-M2.6x0.45Px3.5 DP N 122 4-M3x0.5Px4 DP, LU:aedchx:gE:e?;ket Butt%m
22 B20ilHole ¢ = } "
- Hia—— T T = m =
J L0 . J1E e L Orebsl LG 0° 5 NES
(1T LV ]| o 2 e | s | et = o i [ S e S & I I
S L el ol @I OT°R®|1 & d 118
i = —| T
m 2x2-M3x0.5Px5 DP, I | 1 Mo §
2-M2.6x0.45Px3.5 DP, 5x1.2 DP »jﬁ
2 | L2 24.5
L1
4b
11.5 25
10 10
29.6 5| |5 ;‘
4-03 THRU Tﬁ A j‘ﬁH -
8, @(j\a = a T | B s ll féﬁgwﬁﬁw YIEWE
o 1
\ €}\k// ‘°i | _ﬂlw [ H TS o] L
! 25 © 10 Loal 50
VIEW B o e (n-1)x50 G
Rail Length Total Length ~ Maximum Stroke (mm) Mass (kg)
G (mm) n
L2 (mm] L1 (mm) A1 Block A2 Block A1 Block A2 Block
75 129 31 . 12,5 2 0.2 5
100 154 56 2 25 2 0.23 2
125 179 81 45 12.5 3 0.26 03
150 204 106 70 25 3 0.29 0.33
175 229 131 95 12.5 4 0.32 0.36
200 254 156 120 25 4 0.35 0.39
4-M3x0.5Px4.5 DP 58 2xn-@3.4THRU,06.5x3 DP
33
2x2-M3x0.5Px6 DP 2.5 ‘ 2x2-M2.6x0.45Px4 DP 20 5
26
18 \Q}J 7l .y
. ol @ d [elele] 5@ O|* -
Tt RSP EE T |
- Kciu;u AR o & Felp[+1H® dle -
18 1 ﬁ // IEI
o~ I
40 ] 2-M2.6x0.45Px4.5 DP 10x1.2 DP 6
SECTION A-A 5 L2 5
L1
49
12 25
4-M3x0.5Pxé DP 14.5
P.C.D.29 i 8
- T
L lad] e EER
ST AER \ S g e
A0 & 1%y o mem g R
f m‘ — §
VIEW B e 60 G
(n-1)x60
Rail Length Total Length ~ Maximum Stroke (mm) Mass (kg)
G (mm) n
L2 (mm) L1 (mm) A1 Block A2 Block A1 Block A2 Block
100 159 36 2 20 2 0.48 2
150 209 86 34 15 3 0.6 0.67

200 259 136 84 40 3 0.72 0.79



HIWIN
K99TE16-1904

KK50

22

4-M4x0.7Px6.5 DP

2x2-M2.6x0.45Px4 DP s 2xn-04.5 THRU,08x4 DP
2x2-M3x0.5Px 8 DP 30
35
| 25 | ] S ]
o S L APTE S gl T,
] %’ ——@le 8T — *j’;’f’ T B -1 T
or Th NzFF hd @ I g 3 » [} - @ RIS —
|25 125~
50 o 2-M3x0.5Px4 DP, 15x1.3 DP 5.7
SECTION A-A 5 &5 -
]
60
16 34
4-M3x0.5Px6 DP 16.5
P.C.D. 33 \ 10 10
‘J\ 5 1Ll A
p 7 - g ‘é = WEJ N _ 4 views
" o o °°m_\ LI R S = e T
o / o (=]
© 29 [ A R i ru— | S -
f f A g G 5
VIEWB (n-1)x80
Rail Length Total Length Maximum Stroke (mm]) Mass (kg)
G (mm) K (mm) n
L2(mm)  L1(mm)  A1Block  A2Block A1Block A2 Block
150 220 70 - 35 80 2 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8
KK60 (Standard)
82 4-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 51 2xn-05.5 THRU,09.5x4.7 DP
2x2-M3x0.5Px8 DP 30
X v Y —= T
i HT1e o [ |H f N
. © | of LI Y q. )
=== ="k 11
Ié s & i @}E T?T :]@} 0] ¢ |
2-M2.6x0.45Px3 DP/|,__|15x1.5 DP 6
| K G
(m-1)xK
7 L2
K]
59
18.5 _30.5
1 B2
A
I v 2
o | i (O 1| ‘4] VEWB
~ Y Y Y ; kY H | N}
§ L/ P R 117 =
mw oA é
S 1 6
(n-1)x100
VIEW B
Rail Length Total Length Maximum Stroke (mm]) Mass (kg)
G(mm) K(mm) n m
L2 (mm] L1(mm)  A1Block A2Block A1Block A2 Block
150 220 60 - 25 100 2 2 1.5 -
200 270 110 - 50 100 2 2 1.8 -
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 [ 4.2 4.6



KK60 (Light Duty)

HIWIN

K99TE16-1904

59 2-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 28 2xn-05.5 THRU,@9.5x4.7 DP
2x2-M3x0.5Px8 DP
3» v J/ > 0
I H T T1H d |
- p i H& e .
=5 I
e @} //// @} @ ?? ] @} 0|+ _
2-M2.6x0.45Px3 DP 10x1.5 DP 5
| o
(m-1)xK
7 L2 7
]
59
{85305
1 Ts
A
U , U =
o | e | [ 157 VEws
~ ° 1 ° | ° - s
§ S ! L7 B
mw A é
S 100 G
(n-1)x100
VIEW B
Rail Length Total Length Maximum Stroke (mm]) Mass (kg)
L2 L1 ] G(mm) K(mm) n m
(mm) (mm S1Block  S2Block S1Block  S2Block
150 220 85 34 25 100 2 2 1.4 1.6
200 270 135 84 50 100 2 2 1.7 1.9
300 370 235 184 50 200 3 2 2.3 2.5
400 470 335 284 50 100 4 4 29 3.1
500 570 435 384 50 200 5 3 3.5 3.7
600 670 535 484 50 100 6 6 4.1 4.3
KK60D (Standard)
82 4-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 51 2xn-@5.5 THRU,09.5x4.7 DP
2x2-M3x0.5Px8 DP ; 30
2 1 T
- N @ g [e I HE e 7
g < i ~ )
9 A\ — Nl . I X l_'_l ' o
INEN Lie 4 _
T e © | _of 51 Pe -
— 1l /L m |
30 _|15.|] 1/ ‘
60 2-M2.6x0.45Px3 DP 15x1.5 DP 6
\ K G
SECTION A-A (m-1)xK
7 12 7
L1
59
i85 305
4-M3x0.5Px8 DP 3
P.C.D. 40 1L ]
—= ) e A
P \g \\% () uJ _
4 ‘“@ AN P g & vews
S [e) 40 e 3 ° I ° ° n 8
DJ $‘%\ R ) o ¢ T /' T T ~ =
~--7 Hr qr dr =
t T\ 4 LA 8
4-M4x0.7Px8 DP 3 G
P.CD.40 ‘ (n-11x100
VIEW B
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
G(mm) K(mm) n
L2 (mm) L1(mm)  A1Block A2Block A1Block A2 Block
150 220 60 - 25 100 2 2 1.5 -
200 270 110 - 50 100 2 2 1.8 -
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 6 6 4.2 4.6

23



HIWIN

24 K99TE16-1904
KK60D (Light Duty)
59 2-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 28 2xn-05.5 THRU,@9.5x4.7 DP
2x2-M3x0.5Px8 DP . 4
4 U [ T
N N @ /@ {HIFEKFIHE® g+ [
e W] \4 7} ™ o)
g Y a4 ! ] X |_|—' I 2
[ A I 6 N © | © al P H® e .
30 .15 1f 4
60 2-M2.6xd.A5Px3 DP, 10x1.5 DP 6
SECTION A-A ‘
K G
(m-1)xK
7 L2 7
L1
59
185 ., 305
1 >4
A i _
% /! i | 34 VIEWB
3 . ’/’/ ° ° i é
| L 7 =
( LA 8
3 G
(n-1)x100
Rail Length TotalLength Maximum Stroke (mm) Mass (kg)
L2 G(mm) K(mm) n m
mm) L1(mm)  s1Block  S2Block S1Block  S2Block
150 220 85 34 25 100 2 2 1.4 1.6
200 270 135 84 50 100 2 2 1.7 1.9
300 370 235 184 50 200 3 2 2.3 2.5
400 470 335 284 50 100 4 4 2.9 3.1
500 570 435 384 50 200 5 3 3.5 3.7
600 670 535 484 50 100 6 6 4.1 43
KK80 (Standard) e
75
2xm-M2.6x0.45Px4 DP _2-M2.6x0.45Px4 DP 46 4-Méx1Px12 DP
56
" o2 Mix0.7PX10 DP ) 15x2 DP 2xn-06.6 THRU,B11x6 DP
43 > f— 7 15
| \ N 0] T CARIEES E—$ 1
o] LN 1 - ) — — — ' — X s
g NE @/;{ o [.] o 1,
= i 4|
A - 3 11l 75
80 2 L
SECTION A-A ‘ 200 H
(m-1)x200 6
88
23 51
4-M5x0.8Px10 DP 128 35
2 18
4>A M|
] f W e
ol o il - e q‘ — 2 22 VIEW B
0 D" u] ” + + ;L < é
| . o -
ﬁ L= A =
100 70 §
(n-1)x100
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2 ( H (mm) n m
mm) L1(mm)  A1Block A2 Block Al1Block  A2Block
340 440 216.5 108.5 70 3 2 5.3 6
440 540 316.5 208.5 20 4 3 6.5 7.2
540 640 416.5 308.5 70 5 3 7.6 8.3
640 740 516.5 408.5 20 6 4 8.8 9.5
740 840 616.5 508.5 70 7 4 10 10.7
940 1040 816.5 708.5 70 9 5 12.4 13.1



HIWIN
K99TE16-1904 25

KK80 (Light Duty) B

4
215
56 2xm-M2.6x0.45Px4 DP 15x2 DP r 2-Méx1Px12 DP
- 2xn-06.6 THRU,011x6 DP
46 2x2-M4x0.7Px10 DP 2-M2.6x0.45Px4 DP xn x
] S — o A— -
‘ ‘ hd I ] P _@ E_*# ‘7
51 ] ) S — | 5 A B
0| Lo ~0 =
O T —=
i iEmr | o

B4 Y [ f PERNAS!
i M«m 6 7.5
80 2
SECTION A-A ‘ 200 H
(m-1)x200 6
88
23 51
4-M5x0.8Px10 DP 128 3.5
P.C.D. 70 2 18
S Y
e = i T
- ,/ﬁm ol o 1 S| !y 1 e[92  viEws
°-\ wd‘u. - e AT
e o o e
% ‘ —A ~
=
‘ 100 70 g
(n-1)x100
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
H (mm) n m
L2(mm)  L1(mm)  s1Block  S2Block S1Block  S2Block
340 440 248.5 172.5 70 3 2 5 5.4
440 540 348.5 272.5 20 4 3 6.2 6.6
540 640 4485 372.5 70 5 3 7.3 7.7
640 740 548.5 472.5 20 6 4 8.5 8.9
740 840 648.5 572.5 70 7 4 9.7 10.1
940 1040 848.5 772.5 70 9 5 121 12.5
KK86 (Standard] 116
75
2xm-M2.6x0.45Px4 DP m 4-Méx1Px12 DP
2%2-M&x0.7Px10 DP  \ 2-M2.6x0.45Px4 DP 15x2 DP 2xn-@6.6 THRU,@11x6 DP
60 T - 7 %
26 I T Te ™ [(& d i
; ; E s r - _ h ,7_‘ 7777777j77 2 _ |
3 ;g ~ vﬁ oo = T q 5 = | 2
i © o[]el e k !
46|20 ol ¢ - <
| \7411 65 ]| 7.5
< 200 H
SECTION A-A (m-1)x200 6.5
87
23 _ 50
4-M5x0.8Px10 DP 28 3.5
P.C.D. 70 13 5
o
\Léo U A q_—wJ - [ 8
o i —— g | | [F5—1—1§| 97 VIEWB
2 o F‘ . ‘J'( . j . T S| g
38 A ] oy etk s
p%y ﬁ 11 ‘—>A =
©
100 70 s
(n-1)x100
L2
L1
Rail Length Total Length Maximum Stroke (mm) (mm) n m Mass (kg)
L2(mm)  L1(mm)  A1Block  A2Block A1Block A2 Block
340 440 216.5 108.5 70 3 2 5.7 6.5
440 540 316.5 208.5 20 4 3 6.9 7.7
540 640 416.5 308.5 70 5 3 8.0 8.8
640 740 516.5 408.5 20 6 4 9.2 10.0
740 840 616.5 508.5 70 7 4 10.4 11.2
940 1040 816.5 708.5 70 9 5 11.6 12.4



HIWIN
26  K99TE16-1904

KK86 (Light Duty)

84
2xm-M2.6x0.45Px4 DP 15x2 DP 43 2-Méx1Px12 DP
2x2-M4x0.7Px10 DP \ 2-M2.6x0.45Px4 DP 21.9 2xn-06.6 THRU,@11x6 DP
60 -~ - T %
= i Bl & _@ i i
B e e e e A B
ey MR 1 8, © o l-le | o k |
46 |20 e it *+
| 86 L‘},_ 65 || 7.5
< 200 H
SECTION A-A (m-1]x200 65
87
23 _ 50
28 35
13 18
ly A T - 7‘ 5]
o 7*7,7,774“#,7771‘4@4“,777?[{ [Ea——1g 99| VIEWB
) . i . T . T s 3
~ T T T L 11| S
ﬁ manl 1t munl A I E
[ 0
4-M4x0.7Px8 DP 100 70 S
C.D. 60 (n-1)xT00
L2
VIEW B X
Rail Length Total Length Maximum Stroke (mm) H (mm) n m Mass (kg)
L2(mm)  L1(mm)  s1Block  S2Block S1Block  S2Block
340 440 248.5 172.5 70 3 2 5.4 5.9
440 540 348.5 272.5 20 4 3 6.6 7.1
540 640 448.5 372.5 70 5 3 7.7 8.2
640 740 548.5 472.5 20 6 4 8.9 9.4
740 840 648.5 572.5 70 7 4 101 10.6
940 1040 848.5 772.5 70 9 5 11.3 11.8
KK86D (Standard)
116
75
2xm-M2.6x0.45Px4 DP 3 4-M6x1Px12 DP
P 2Mix0.TPA0DP  \  2-M2.6x0.45Px4 DP 15x2 DP 2xn-06.6 THRU,@11x4 DP
-0 TV i 7 T+
bt @ | K & j@ [f}r
BN ”E} - :’: | .
3 bl ofl 7 i = 5 |—'_‘ l ©
T e WJ” @ | o |+lo|[© -4
46 120 ad i Pe
86 - 65 || 7.5
~ 200 H
SECTION A-A (m-11x200 65
87
4-M5x0.8Px10 DP 2 2850 15
P.C.D.70 \ _ 13 g :
— oL
){/’"‘\ﬁ‘s @\ ° —A Ly -
Y . :
< HK@;\\L o it T 2 — ql- 32 _VIEWB
° \ / o o[ il S 3
Kj/: y\rv?/o D‘ * T — T T * =
—— @ ﬁ Ll L A L =
—— o
4-Méx0.7Px8 DP 100 70 S
P.C.D. 40 (n-1)x100
VIEW B L2
L1
Rail Length TotalLength Maximum Stroke (mm) (mm] . o Mass (kg)
L2(mm)  L1(mm)  A1Block  A2Block A1Block A2 Block
340 440 216.5 108.5 70 3 2 5.7 6.5
440 540 316.5 208.5 20 4 3 6.9 7.7
540 640 416.5 308.5 70 5 3 8.0 8.8
640 740 516.5 408.5 20 6 4 9.2 10.0
740 840 616.5 508.5 70 7 4 10.4 1.2
940 1040 816.5 708.5 70 9 5] 11.6 12.4



HIWIN

K99TE16-1904 27
KK86D (Light Duty)
84
2xm-M2.6x0.45Px4 DP 1542 DP 43 2-Méx1Px12 DP
2%2-Mix0.7Px10 DP 2-M2.6x0.45Px4 DP 215 2xn-@6.6 THRU,@11x6 DP
80 P 1= v %
[ 46 | @ ”‘ @E ¢ ]@' [T
[ o — |
- ¥ O)-H R i B |_'_4 l T
< ol I |
T I mel @ | o9 |-lo | Pe 4
46|20 e i <
‘ | 86 Lﬁn 65 || " 7.5
~ 200 H
SECTION A-A (m-1)x200 6.5
87
4-M5x0.8Px10 DP = 2850 a5
P.C.D.70 13 5
i oy A -
N B el 2
- ('iﬁ@j\'\L - s T q fg oo VIEWB
\ / o| w2 0 (St 8
Kj/; \/ D‘ § Ll Illl - Ll LH - Lie
- o~
! } LA 5
4-M4x0.7Px8 DP 100 70 S
P.C.D. 60 (n-1)x100
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm] H (mm] . o Mass (kg)
L2(mm)  L1(mm)  s1Block  S2Block S1Block  S2Block
340 440 248.5 172.5 70 3 2 5.4 5.9
440 540 348.5 272.5 20 4 3 6.6 7.1
540 640 448.5 372.5 70 5 3 7.7 8.2
640 740 548.5 472.5 20 6 4 8.9 9.4
740 840 648.5 572.5 70 7 4 101 10.6
940 1040 848.5 772.5 70 9 5} 11.3 11.8
KK1 00 142.6
95
50
2xm-M2.6x0.45Px4 DP 20x1.5 DP 4-M8x1.25Px15 DP
" 22 MX0.7PR10 DP 4 M3x0.5Px6 DP s 2xn-09 THRU,B14x8.5 DP
50 = 1 v T 7 L1
7‘ ‘ © T Ol eBJ& [H @ 1° .
o 0 I S Y S B smelb o I .
50 |25 EH i 223
100 ~ 7.5 8
200 H 7.5
SECTION A-A
(m-1)x200
94
27 45
32
22
A ] N
— h — . — S— ) SN VIEW B
+ 4” + +
0 0 T 0 B
—A S e
150 6 sl g
(n-1)x150 =
L2
L1
Rail Length Total Length Maximum Stroke (mm) G (mm) H (mm) n m Mass (kg)
L2(mm)  L1(mm)  A1Block A2Block A1Block A2 Block
980 1089 828 700 40 90 7 5 18.6 20.3
1080 1189 928 800 15 40 8 6 20.3 22.0
1180 1289 1028 900 65 90 8 6 22.0 23.7
1280 1389 1128 1000 40 40 9 7 23.6 25.3
1380 1489 1228 1100 15 90 10 7 25.3 27.0



HIWIN

83

28  K99TE16-1904
157
108
2xm-M2.6x0.45Pxk DP 4-M3x0.5Px6 DP AT 4-M10x1.5Px20 DP
2x2-Mix0.7Px10 DP : 8 2xn-@11 THRU,@17.5x10.5 DP
95
70 & Lt v v ’ ﬁ]
@ // @ > & | .
i i — H 1 |
g /ﬂ'\\ T\\ o _ _ I _ _ — | | ‘ o
19 ﬂ ) 3 8 <t =]
BERS - ! nj -
R e | e YleFs —
= <&
130 w0 = I =T
5 12
SECTION A-A 200 H 9
(m-1)x200
100
8-Mé6x1Px12 DP 35_ 35 35
P.C.D90 29
121 18 16
=~
- 7 % ] A I
) | . 7 | [ R g
fa \ o 1l mﬂ_T B S — — 1ol s2| _VIEWB
@ o” + + ‘ s R
- & "i e _— T — 0 ‘ s
) RANT4 ﬂ/@ o — pei A O
— A K=
VIEW B 150 6 =
(n-1)x150
L2
K]
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
G (mm) H(mm) n m
L2 (mm) L1(mm)  A1Block A2Block A Block  A2Block
980 1098 811 659 40 90 7 5 29.4 32.3
1180 1298 1011 859 65 90 8 6 34.3 37.2
1380 1498 1211 1059 90 90 9 7 39.2 421
1680 1798 1511 1359 90 40 " 9 46.5 49.4



2.9.2 With cover

KK30

2x2-M2.6x0.45Px4 DP

4-M3x0.5Px6 DP

HIWIN

K99TE16-1904

2xn-@3.4 THRU,06.5x2 DP

(Use Hexagon Socket Buttzom

Head Cap Screws)

Qo H @ H =1
g (,] o R | e e =
- 1l i & 1 [T
I = i 2
SECTION A-A ' e aij 5.57.5 g
T T 4.4‘7
2 L2 24.5
L1
44
10 115 25
-10_ A
=] — 1.0 f
- ‘
g, aﬁﬁa s g | [ — e 4] ,,T,Ll,f | views
2 & T [
O] e\k% of | M b—cqer1 | iofs . @t
25 g m‘ LoA| 50
4-83 THRU VEWE & S (n-1)x50 6
RailLength TotalLength ~ Maximum Stroke (mm) 6 (mm) . Mass (kg)

L2 (mm] L1 (mm) A1 Block A2 Block A1 Block A2 Block
75 129 31 = 12.5 2 0.24 =
100 154 56 = 25 2 0.27 =
125 179 81 45 12.5 3 0.3 0.36
150 204 106 70 25 3 0.33 0.39
175 229 131 95 12.5 4 0.37 0.43
200 254 156 120 25 4 0.4 0.46

58 4-Méx0.7Px14 DP
33
. 2 2-M3X0.5Pxl DP > 2xn-03.4 THRU,06.5x3 DP
52 72 ; 6 ; 2x2-M2.6x0.45Px4 DP
37 - 25 [ -
- | o Uld L
le—=——l o  C¥T______ /] L Attt R R S
r_’J Jr# i = T T T T 1{3& N .
o — pa 1
e ACE R N e e - ®
18 |11 Nf
40
SECTION A-A L2
L1
49
12 25
4-M3x0.5Px6 DP 14_58,
_ | P.C.D.29 WA |
T \m oo L
3 LQL_ It ¢% — I — — 123 views
DL ® B3 31 I ‘ §
AN Pg 3 o T ——" i S
t m‘ L §
VIEW B P 60 G =
(n-1)x60
Rail Length  Total Length Maximum Stroke (mm) G (mm) n Mass (kg)

L2 (mm) L1 (mm) A1 Block A2 Block A1 Block A2 Block
100 159 36 = 20 2 0.55 =
150 209 86 34 15 3 0.68 0.76
200 259 136 84 40 3 0.82 0.89

29



HIWIN

30

KK50

K99TE16-1904

4-M4x0.7Px10 DP

2x2-M2.6x0.45Px4 DP

2xn-@4.5 THRU,@8x4 DP

e
R
D ]
PR 7 T Y = S /S o s
50 23 ~ L& A & 5.7
SECTION A-A 2x2-M3x0.5Px4 DP_ | 8| :
K G
L2
L1
60
T 34
4-M3x0.5Px6 DP 63
10 10]
PCO.33 10 "_.A
==l ; TR T -
0 ’ ‘X_Q; 0 I i g (5 ~ g
NP e e—— = N N
Lo oo7d of § L i R nr— | E—— —
m( m1 \—.A 5
S VIEW B S 80 G s
(n-1)x80
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
G (mm) K (mm) n
L2(mm)  L1(mm)  A1Block  A2Block A1Block A2 Block
150 220 70 - 35 80 2 1.1 -
200 270 120 55 20 160 3 1.3 1.5
250 320 170 105 45 160 3 1.6 1.8
300 370 220 155 30 240 4 1.8 2.0
KK60 (Standard)
82
2x2-M2.6x0.45Px6 DP % 4-M5x0.8Px8 DP
8 2xm-M2.6x0.45Px4 DP ‘B‘ 2xn-@5.5 THRU,9.5x4.7 DP
“T" I
[e===—==] = |
g U St - e = - 2
o ! ¥ 5 7.9“‘(&( N N Ny e I 2 e ©
N s A I AR o - 2 R o 1
30 15| = I T T et S M )
60 ° [©20® ] 6
_ K 6
SECTION A-A TR
L2
]
59
8.5 _305
155
1 r,A 159
/ ;U;' U;' =
| | it [ (1115 _VIEwB
9 //// ° ‘ 9 — §
‘ | 1 AN L» I S i
0
M g( A 6 3
PCD.40 o (n-11x100
Rail Length Total Length Maximum Stroke (mm]) Mass (kg)
L2 (mm) L1 (mm) G(mm)] K(mm) n m
mm mm A1 Block A2 Block A1 Block A2 Block
150 220 60 - 25 100 2 2 1.7 -
200 270 110 = 50 100 2 2 2.1 =
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 4 3.3 3.4
500 570 410 335 50 200 5 3 3.9 4.2
600 670 510 435 50 100 6 6 4.6 5.0



HIWIN
K99TE16-1904 31

KK60 (Light Duty)

59 2-M5x0.8Px8 DP
o 28 —
14
74 2xm-M2.6x0.45Px4 DP ] 2xn-@5.5 THRU,09.5x4.7 DP
‘ b4 4‘f
T
[e==——==2T] i
s i W g 1
ol 6] M\J }%7(\‘” o
BTN e B :
30 15 =
0T A
2-M2.6x0.45Pxé6 DP, 8
SECTION A-A | K G
[m-1)xK
L2
59
18.5 _ 30.5
é—(b:/IBXO.SPXS DF’/\ 1 A 755
CD. 5 - G
\:), = T lQ 1
& /| | s
. A5 ,7,7,7,7#7,7?1_“7% W%JE_ 7 VEWB
o o " ° j ° — =)
o W ”7/ L A I— | e S
m( L»A §
4-M4x0.7Px8 DP, = 100 G
P.C.D. 40 (n-1)x100
VIEW B
Rail Length Total Length Maximum Stroke (mm]) Mass (kg)
G(mm) K(mm) n m
L2 (mm] L1(mm)  s1Block  S2Block S1Block S2Block
150 220 85 34 25 100 2 2 1.6 1.8
200 270 135 84 50 100 2 2 19 2.1
300 370 235 184 50 200 3 2 2.5 2.7
400 470 335 284 50 100 4 4 3.1 3.3
500 570 435 384 50 200 5 3 37 39
600 670 535 484 50 100 6 6 A b
KK60D (Standard) .
2x2-M2.6x0.45Px6 DP 3 4-M5x0.8Px8 DP
gz 2xm-M2.6x0.45Px4 DP ‘8 ‘ 2xn-@5.5 THRU,@9.5x4.7 DP
| 64 . O ¢ &
— T T T
L ® R IR R e FI |"
o Ao i = <
~ iﬂ TYUTTY ’l’/ i I = i IJ_l ' P
I M WP O/ O RN ER ch .
ol EREX] )
SECTION A-A K G
(m-1)xK
L2
L1
59
18.5 305
11 — A li‘?i
!
= 4 [T | oq MEWB
® // * 3 i §
I B, 2 =
oA 8
G
(n-1)x100
Rail Length Total Length Maximum Stroke (mm] Mass (kg)
G(mm) K(mm) n m
L2 (mm] L1(mm)  A1Block A2Block A1Block A2 Block
150 220 60 - 25 100 2 2 1.7 -
200 270 110 - 50 100 2 2 2.1 -
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 4 3.3 3.6
500 570 410 335 50 200 5 3 3.9 4.2
600 670 510 435 50 100 6 6 bb 5.0



HIWIN

32  K99TE16-1904
59 2-M5x0.8Px8 DP
KK60D (Light Duty)
28
?2’ 2xm-M2.6x0.45Px4 DP A4 2xn-05.5 THRU,09.5%4.7 DP
| bl | ‘ ) oS
i) 17 1 a1_ 1T
e===—===1] }Q R S S P " I B 5 [@‘ m
& AW 7} === 7 = 3 9|
N __lg] YT ,I,I S N 1= &y l_'_l ’ o
A R WL P @ S & n
30 ]5 - i I —_J_____3 — I
60 o ! 49 6
SECTION A-A 2-M2.6x0.45Px6 0B/ |8
K G
(m-1)xK
L2
K]
59
4-M3x0.5Px8 DP A 182 1;50'5
P.C.D.40 1 - 9
s Tliag [T { o4 _VIEWSB
° // ° ° D,, S
lrf‘ //’//’ ETT“ lrf‘ %
- A S
0 G
(n-1)x100
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
G(mm) K(mm) n
L2 (mm) L1(mm)  s1Block S2Block S1Block S2Block
150 220 85 34 25 100 2 2 1.6 1.8
200 270 135 84 50 100 2 2 1.9 2.1
300 370 235 184 50 200 3 2 2.5 2.7
400 470 335 284 50 100 4 4 3.1 3.3
500 570 435 384 50 200 5 3 3.7 3.9
600 670 535 484 50 100 6 6 WA 4.6
KK80 (Standard) »
104 7
92 2xm-M2.6x0.45Px4 DP 4-M2.6x0.45Px4 DP. e 4-Meéx1Px12 DP
‘ 80 ‘ *%* 2xn-06.6 THRU,011x6 DP
|| & &
ol ' L A I S| AN
=S w‘@' N i e |+ \;F@ f 1
o T T S AR e e
2 e rLL T e[ BT e T )
5 | 46 _h7 - I — — ——
‘ ‘ 0 [+ o] 7.5
8 N 200 H
SECTION A-A ‘
(m-1)x200
88
23 51
4-M5x0.8Px10 DP 28 3.5
P.C.D. 70 \ - 2 A 18
e \ ), i}
\X \‘éo It i ! v - u_l ~ 7] 3
[} fi co
) < i | i il — N VIEW B
o g 2 o g‘ h R ” R . i g +8+
23T el 2 e —— ==
f v f A 5
4-M4x0.7Px8 DP 100 70 =
P.C.D. 60 (n-1)x100
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2 L1 H (mm) n m
(mm]) (mm)  A1Block  A2Block A1Block A2 Block
340 440 216.5 108.5 70 3 2 6 7.1
440 540 316.5 208.5 20 4 3 7.2 8.3
540 640 416.5 308.5 70 5 3 8.4 9.5
640 740 516.5 408.5 20 6 4 9.7 10.8
740 840 616.5 508.5 70 7 4 10.9 12
940 1040 816.5 708.5 70 9 5 13.5 14.6



HIWIN

K99TE16-1904 33
KK80 (Light Duty) )
104 43 B
92 2xm-M2.6x0.45Px4 DP 4-M2.6x0.45Px4 DP. 5 2:MéxTPx12 DP
‘ " g0 " i 2xn-6.6 THRU,811x6 DP
— =¥ {7 ——— LTS -
P——. A S— I pAp—_—
U L | i gHE Ty i i
= T e Tt B i el S
) gl gv Q7 Pq o\gjg i:::: ::::Eﬂﬁj‘ :::::Eﬂ ~
: Di:ﬁi 2 %777@" [ R |
80 2 e ,,Lﬂ
~ 200 H
SECTION A-A
(m-1)x200
88
23, 51
4-M5x0.8Px10 DP 28 3.5
P.C.D. 70 - 12 —A 18
== A ’ U ]
é \oo — 1t — \77 S
o mhh/ﬁm 3 o 1 e — 1 —++—1els2  vEws
wd‘ NZAIR d‘m‘ - . | D imAE
L o, O Y& R ] T - — — S
] = & ! Lea S
4-M4x0.7Px8 DP 100 70 s
P.C.D. 60 | (n-1)x100
VIEW B 2
L1
Rail Length Total Length Maximum Stroke (mm] (mm) . o Mass (kg)
L2(mm)  L1(mm)  s1Block  S2Block S1Block  S2Block
340 440 248.5 172.5 70 3 2 5.5 6.1
440 540 348.5 272.5 20 4 3 6.8 7.4
540 640 448.5 372.5 70 5 3 7.9 8.5
640 740 548.5 472.5 20 6 4 9.2 9.8
740 840 648.5 572.5 70 7 4 10.5 1.1
940 1040 848.5 772.5 70 9 B 13 13.6
KK86 (Standard) ”
75
112 4-M2.6x0.45Px6 DP 46 4-M6x1Px12 DP
13[? ‘ 2xm-M2.6x0.45Px4 DP —B— 2xn-06.6 THRU,@11x6 DP
l — 1
3 O ¥ S i #fg
SJ 6 %“ > 81%' I
| B had
|46 _[20]__
86 )
~
SECTION A-A
87
23 _ 50
4-M5x0.8Px10 DP 78 35
7P.C.D. 70 13 ’—>A 18 o
I iU I ==
g /=91 o [ | [ 13 % _viEwWB
- N I+ | . 1158
“r\‘ I “r\‘ ; \‘ L———41 ~
] Y 5
4-M£x0.7Px8 DP 100 70 S
P.C.D. 60 (n-1)x100
L2
VIEW B X
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2 (mm) L1 (mm) it n m
mm A1 Block A2 Block A1 Block A2 Block
340 440 216.5 108.5 70 3 2 6.5 7.3
440 540 316.5 208.5 20 4 3 7.8 8.6
540 640 416.5 308.5 70 5 3 9.0 9.8
640 740 516.5 408.5 20 6 4 10.3 1.3
740 840 616.5 508.5 70 7 4 11.6 12.4
940 1040 816.5 708.5 70 9 5 13.0 13.8



HIWIN

34

K99TE16-1904

KK86 (Light Duty)

84
43
112 4-M2.6x0.45Px6 DP 215 | 2-Méx1Px12 DP
% 2xm-M2.6x0.45Px4 DP —2 2xn-06.6 THRU,@11x6 DP
R
j( i Jy ] ‘r
3 QE 'ﬁﬁ Foct N s
5] [} A 1
L T
.46 |20 L nle
86 17}
~
SECTION A-A
87
23 _ 50
4-M5x0.8Px10 DP 28 35
P.C.D.70 13 A =5l
5 T =
\3 \‘é ! | [ g
° | 1 3
o | sy | [ 1 telgg viEWB
b - + | + ‘ + 0 A‘L s 2
‘g “r\‘ I “r\‘ : “r\‘ L———+! ~ s
i ! Y S
100 70 S
(n-1)x100
L2
K]
Rail Length Total Length Maximum Stroke (mm) H (mml Mass (kg)
mm n m
L2(mm)  L1(mm)  s1Block  S2Block S1Block  S2Block
340 440 248.5 172.5 70 3 2 6.3 7.1
440 540 348.5 272.5 20 4 3 7.6 8.4
540 640 448.5 372.5 70 5 3 8.8 9.6
640 740 548.5 472.5 20 6 4 10.1 1.1
740 840 648.5 572.5 70 7 4 1.4 12.2
940 1040 848.5 772.5 70 9 5 12.8 13.6
KK86D (Standard) .
75
112 4-M2.6x0.45Pxé DP 46 4-Mé6x1Px12 DP
100 2xm-M2.6x0.45Px4 DP B 2xn-@6.6 THRU,@11x6 DP
‘<¢>‘ i 6~y &
L i )
i R LR
o ¥ o fl 1 S — . d A R
46|20 i
86 L‘E o v & 7.5
~ 200 H
SECTION A-A (m-1)x200
87
23 50
4-M5x0.8Px10 DP 8 35
13 —=A 18]
I I
i I =
3 i 4l X I 3 322 M
g‘ + R + p S 3
AR 2k A 1
i LA 5
100 70 s
(n-1)x100
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
H (mm) n
L2(mm)  L1(mm)  A1Block  A2Block A1Block A2 Block
340 440 216.5 108.5 70 3 2 6.5 7.3
440 540 316.5 208.5 20 4 3 7.8 8.6
540 640 416.5 308.5 70 5 3 9.0 9.8
640 740 516.5 408.5 20 6 4 10.3 11.3
740 840 616.5 508.5 70 7 4 11.6 12.4
940 1040 816.5 708.5 70 9 5 13.0 13.8



HIWIN

K99TE16-1904 35

KK86D (Light Duty)

84
43
112 4-M2.6x0.45Px6 DP 21.3 | 2-Méx1Px12 DP
1;’3 ‘ 2xm-M2.6x0.45Px4 DP —~t 2xn-@6.6 THRU,@11x6 DP
‘ | CYRL] 1= ~ T
i i 2 s |—| |
2 ¥ Ot i — = S
EJ [ j 1 o~ gjgl 3 ”»:[E 4?/ :]’fu u L
K T > & i 4 1% @
.46 _J20] @ iL i - @
86 o 7.5
SECTIONA-A ™ o H
87
4-M5x0.8Px10 DP 2 2850 | 35
P.C.D.70 13 A ~E T
- ‘(_5\ i T
RN @\ ° i §
5/ \l,, \ao i \H O
% ((KC}N\L | 3 : Al F g gloo| views
- \ /d, & g‘ + S + p S8
l KKK\J/N%QQ/& W L L = St
! Y, ] LA <
4-M4x0.7Px8 DP 100 70 s
P.C.D. 60 (n-1)x700
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm] Mass (kg)
H (mm) n m
L2(mm)  L1(mm)  s1Block  S2Block S1Block  S2Block
340 440 248.5 172.5 70 3 2 6.3 7.1
440 540 348.5 2725 20 4 3 7.6 8.4
540 640 4485 372.5 70 5 3 8.8 9.6
640 740 548.5 472.5 20 6 4 10.1 1.1
740 840 648.5 572.5 70 7 4 1.4 12.2
940 1040 848.5 772.5 70 9 5 12.8 13.6
142.6
95
124 4-M3x0.5Px6 DP 50 4-M8x1.25Px15 DP
110
95 ‘ 2xm-M2.6x0.45Pxé DP ‘8‘ 2xn-@9 THRU,@14x8.5 DP
% :
©
50 _|25 oL i +7<; o q:i =
100 < 8
200 H
SECTION A-A (m-1)x200
9%
4-M5x0.8Px10 DP 21 3;5
P.C.D. 70 15 <5
—A 22
—1 > 1F 1
A== ” N -
NN ‘X e | = = — - I VIEW B
TN ' ‘_J N // N 7 | —7
9| 2 1 5 . b o O ——1
K Y ! ! Loa 53
VIEW B 150 G sl 5%
(n-1)x150 2
a2
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
G(mm) H(mm) n m
L2 (mm) L1(mm)  A1Block  A2Block A1Block A2 Block
980 1089 828 700 40 90 7 5 20.4 221
1080 1189 928 800 15 40 8 6 22.2 23.9
1180 1289 1028 900 65 90 8 6 24.0 25.7
1280 1389 1128 1000 40 40 9 7 25.7 27.4
1380 1489 1228 1100 15 90 10 7 275 29.2



HIWIN

92

36  K99TE16-1904
KK130
108
170 4-M3x0.5Px6 DP 50 4-M8x1.25Px45 DP
8
1122 2xm-M2.6x0.45Px4 DP \} } - 2xn-@11 THRU,17.5x10.5 DP
S\, 4
T v — — — — v ﬂ
=1 [Tz s el 7
I = | 1 ===50 1 (
M e === | = ,::Tr—%\ | o
S T QT e i ——— p—— by T8
<|_ 15 SRS ] ‘% l |
A ISR & &P & [+ &
70 30 | er— — — - I ——— — — 11*°lf
130 " e 12
SECTION A-A 200
8-Méx1Px12 DP [m-1)x200 100
P.C.D. 90 35 ;3 35
18 <L
A 16
= B ; -
- (%]
74“ =3 - I ‘ |‘| u‘u _‘ | | o
. o — — — Y W | —— i—1olde _VIEWB
RE \ o I e S e ] 15 8
L BNTAME &) Tl i — T f] I
] N } L-a 150 6 5
VIEW E (n-1)x150 s
L2
L1
Rail Length Total Length Maximum Stroke (mm) 6(mml  Himml . o Mass (kg)
L2(mm)  L1(mm)  A1Block A2Block A1Block A2 Block
980 1098 811 659 40 90 7 5 31.9 35.9
1180 1298 1011 859 65 90 8 6 37.1 41
1380 1498 121 1059 90 90 9 7 42.2 46.2
1680 1798 1511 1359 90 40 " 9 49.9 53.9



HIWIN
K99TE16-1904 37

2.10 Motor Housing and Motor Adaptor Flange

2.10.1 Motor Selection
HIWIN Mikrosystem Servo Motor

. - +Brake .
I(\)/Istt::t Motor }II\(/;;ght Flange Selection Weight Drive \[lx:;ght Remarks
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg)
50W FRLS052[J[JA4[] 0.45 - F2 F2 F2 F3 F3 - - 0.58 220V
100W  FRLS102[ I JA4[] 0.6 - F2 F2 F2 F3 F3 - - 0.76 220V
200W  FRLS202[][J0s[] 1 - - - - FO FO FO F1 1.5 D2T 1.25 220V
400W  FRLS402[][106[] 1.45 - - - - FO FO FO F1 1.86 220V
750W  FRMS752[][]08[] 2.66 - - - - - - F1 F2 3.32 220V
Mitsubishi Servo Motor
. . +Brake .
I(\)/Istt:l:t Motor }/:;;ght Flange Selection Weight Drive :/I\:e;ght Remarks
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg) 9
10W HC-AQ0135D 0.19 F1 - - - - - - - 0.29 M2-JR-03A5 0.2
20W HC-AQ0235D 0.22 F1 - - - - - - - 0.32 M2-JR-03A5 0.2
50W HF-KP053  0.35 - F1 F1 F1 F2 F2 - - 0.75 MR-J3S-10A 0.8 220V
100W  HF-KP13 0.56 - F1 F1 F1 F2 F2 - - 0.89 MR-J3S-10A 0.8 220V
200W  HF-KP23 0.94 - - - - FO FO FO F1 1.6 MR-J3S-20A 0.8 220V
400W  HF-KP43 1.5 - - - - FO FO FO F1 2.1 MR-J3S-40A 1 220V
750W  HF-KP73 29 - - - - - - F1 F2 4 MR-J3S-70A 1.4 220V
Panasonic Servo Motor
. . +Brake .
gljtt;:t Motor }/ﬁ;;ght Flange Selection Weight Drive :AI:e;ght Remarks
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg) 9
50W MSMD5AZP1 0.32 - F2 F2 F2 F3 F3 - - 0.53 MADDT1105 0.8 110V
50W MSMD5AZP1 0.32 - F2 F2 F2 F3 F3 - - 0.53 MADDT1205 0.8 220V
100W  MSMDO11P1 0.47 - F2 F2 F2 F3 F3 - - 0.68 MADDT1107 0.8 110V
100W  MSMDO12P1 0.47 - F2 F2 F2 F3 F3 - - 0.68 MADDT1205 0.8 220V
200W  MSMDO021P1 0.82 - - - - F1 F1 - - 1.3 MADDT2110 1.1 110V
200W  MSMDO022P1 0.82 - - - - F1 F1 - - 1.3 MADDT1207 0.8 220V
400W  MSMDO41P1 1.2 - - - - F1 F1 - - 1.7 MADDT3120 1.5 110V
400W  MSMDO042P1 1.2 - - - - F1 F1 - - 1.7 MADDT2210 1.1 220V
750W  MSMDO082S1 2.3 - - - - F4 F4 F2 F4 3.1 MADDT3520 1.5 220V
Yasukawa Servo Motor
. : +Brake .
I(\)/Istt::t Motor [Wk;;ght Flange Selection Weight Drive \[/:e;ght Remarks
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg) 9
10W SGMMV-AT1A2A21 0.13 F2 - - - - - - - 0.215 SGDV-R90A01A 0.9 220V
20W SGMMV-A2A2A21 0.17 F2 - - - - - - - 0.27 SGDV-R90A01A 0.9 220V
50W SGMAV-A5ADA6T 0.3 - F1 F1 F1 F2 F2 - - SGDV-R70A01A 0.9 with key
50W SGMAV-ASADA2C 0.3 - F1 F1 F1 F2 F2 - - SGDV-R70A01A 0.9 no key
50W SGMAV-A5ADA21 0.3 - F1 F1 F1 F2 F2 - - 0.75 SGDV-R70A01A 0.9 Mid inertia
100W  SGMAV-01ADA64 0.4 - F1 F1 F1 F2 F2 - - 0.89 SGDV-R90A01A 0.9
200W  SGMAV-02ADA65 0.9 - - - - FO FO FO F1 1.6 SGDV-1R6A01A 0.9
4LO00W  SGMAV-04ADA66 1.2 - - - - FO FO FO F1 2.1 SGDV-2R8A01A 1

750W  SGMAV-08ADA67 2.6 - - - - F1 F2 4 SGDV-5R5A01A 1.5



HIWIN
K99TE16-1904

Oriental Step Motor

. Flange Selection Built in Weight Built in Weight
Series Model Motor (kg) Drive (kg)
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130
CSK243-AP - 3 F3 F5 - - . - PK243-01A 021  CSD2109-P 0.12
CSK244-AP - 3 F3 F5 - - - - PK244-01A 027  CSD2112-P 0.12
CSK245-AP - 3 F3 F5 - - - - PK245-01A 035  CSD2112-P 0.12
CSK264-AP - - - F& F6 F6 - - PK264-02A  0.45  CSD2120-P 0.12
;iﬁase CSK266-AP - - - E P T - PK266-02A 0.7 CSD2120-P 0.12
CSK268-AP - - - F& F6 F6 - - PK268-02A 1 CSD2120-P 0.12
CSK296-AP - - - - - - F&  F3  PK296-03A 1.7 CSD2145P 0.2
CSK299-AP - - - - - - F&  F3  PK299-03A 2.8 CSD2145P 0.2
CSK2913-AP - - - - - - F&  F3  PK2913-02A 3.8 CSD2140P 0.2
(Z:?Sase CSK523-AP F3 - . . - . : - PK523A 0.1 SD5103P3  0.04
CFK543AP2 - 3 F3 F5 - : : . PK543NAW 021  DFC5107P 0.2
CFKS44AP2 - 3 F3 F5 - . : : PK544NAW 027  DFC5107P 0.2
CFK545AP2 - 3 F3 F5 - . . . PK545NAW 035  DFC5107P 0.2
CFK564AP2 - : - : F5  F5 - . PKS64NAW 0.6 DFC5114P 0.2
CFKIl  crks66AP2 - . _ . F5 F5 - . PK566NAW 0.8 DFC5114P 0.2
Sehase  oriseoapr - - - - F5 F5 - - PK56INAW 1.3 DFC5114P 0.2
;T'ecpr;ing CFK566HAP2 - : : : F5 F5 - : PK566HNAW 0.8 DFC5128P  0.22
CKF569HAP2 - - : : F5  F5 - : PK569HNAW 1.3 DFC5128P  0.22
CFK596HAP2 - _ : : _ : BB |- PK596HNAW 1.7 DFC5128P  0.22
CFK599HAP2 - ; : : ; . B |- PK599HNAW 2.8 DFC5128P  0.22
CFK5913HAP2 - : : : _ : 3 - PK5913HNAW 3.8 DFC5128P  0.22
UMK243A - F3 F3 F5 - : : : PK243-01 021  UDK2109  0.47
UMK244A - F3 F3 F5 - - - - PK244-01 027  UDK2112  0.47
UMK UMK245A - 3 F3 F5 - - - : PK245-01 035  UDK2112  0.47
2phase  UMK264A - - - F4  F6  F6 - - PK264-02  0.45  UDK2120  0.47
UMK266A : : : F& F6  F6 - : PK266-02 0.7 UDK2120  0.47
UMK268A - - - F4 F6  F6 - - PK268-02 1 UDK2120  0.47
RK543AA - 3 F3 F5 - - - - PK543W 0.25  RKD507-A 0.4
RK544AA - 3 F3 F5 - - - - PK544W 0.3 RKD507-A 0.4
RK545AA - 3 F3 F5 - - - - PK545W 0.4 RKD507-A 0.4
RK RK566AA - - - - F5 F5 - - PK566W 0.8 RKD514L-A 0.85
5phase RK569AA - - - - F5 F5 - - PK569W 13 RKD514L-A 0.85
RK596AA - - - - - - = PK596W 1.7 RKD514H-A 0.85
RK599AA - - - - - - 3 - PK599W 2.8 RKD514H-A 0.85
RK5913AA - - - - - - EE PK5913W 3.8 RKD514H-A 0.85
ASC rscaunk BB |- . - . . : . ASM34ZAK 0.5  ASD10A-K 0.25

a-step



2.10.2 HIWIN AC Servo Motor & Drive Selection Model Comparison Table

KK40

==

T

13

30.5

L
‘ 305 ‘

Model Rated
selection Output
MO05[]
50W
KO05[_]
M10[]
100W
K10[J
Model Rated
selection Output
M05[]
50W
K05[]
M10[]
100W
K10[]
Model Rated
selection Output
M05[ ]
50W
K05
M10[]
100W
K10[]
Model Rated
selection Output
M05[_]
50W
K05
M10[]
100W
K10[J
Model Rated
selection Output
M20[_]
200W
K20[]
M40[]
400W
K40L]

Brakes

NO
YES
NO
YES

Brakes

NO
YES

YES

Brakes

NO
YES
NO
YES

Brakes

NO
YES
NO
YES

Brakes

YES

YES

Flange

F2

Flange

Flange

Flange

Flange

FO

HIWIN
K99TE16-1904

Weight
L
(mm) (kg)*
88.5 0.49
17 0.62
110.5 0.64
139 0.80
Weight
L(mm
mm) yg)e
88.5 0.49
117 0.62
110.5 0.64
139 0.80
Weight
L
(mm) (kg)*
88.5 0.51
117 0.64
110.5 0.66
139 0.82
Weight
L
(mm) " yg)e
88.5 0.65
117 0.78
110.5 0.80
139 0.96
Weight
L
(mm) (kg)*
100 113
133 1.63
121.5 1.58
154.5 1.99

*1. The weight is the total weight of the motor, flange and coupling. It does not include the weight of the single-axis robot.

2. Motor and drive specification ref. catalog P.167

39



HIWIN
40  K99TE16-1904

KK8é6

Model
selection

MO05[_]
Kos[
M10[]
K10[J

Model
selection

M20[]
K20[J
Ms40[ ]
K40[]

Model
selection

M20[ ]
K20[]
M40[ ]
K40[]

Model
selection

M75[]

Model
selection

M20[]
K20[]
M40[ ]
Ké40[]

Model
selection

M75[]
K750

Rated Weight
) Brakes Flange L(mm) (kg)*
NO 88.5 0.65
50W
YES 17 0.78
E8
NO 110.5 0.80
100W
YES 139 0.96
Rated Weight
) Brakes Flange L(mm) (kg)*
NO 100 1.13
200W
YES 133 1.63
FO
121.5 1.58
400W
YES 154.5 1.99
Rated Weight
Output Brakes Flange L(mm) (kg)*
100 1.14
200W
YES 133 1.64
FO
121.5 1.59
400W
YES 154.5 2.00
Rated Weight
G Brakes Flange L(mm) (kg)*
NO 140 2.93
750W F1
YES 176 3.59
Rated Weight
Output Brakes Flange L(mm) (kg)*
100 1.14
200W
YES 133 1.64
FO
121.5 1.59
400W
YES 154.5 2.00
Rated Weight
Output Brakes Flange L(mm) (kg)*
NO 140 2.96
750W F1
YES 176 3.62

*1. The weight is the total weight of the motor, flange and coupling. It does not include the weight of the single-axis robot.

2. Motor and drive specification ref. catalog P.167



2.10.3 Motor Housing and Motor Adaptor Flange
KK30

Motor Housing FO

4

N}
NS

11.5

|

10

i}rﬁ =

I~
i
N

‘.

4-@3 THRU

[ A
)i

HIWIN

K99TE16-1904

w

Ny
S

(4 @

22215%

@)
)

o~ gl

4-@3 THRU,@5x3 DP

‘ 4-@3.5Thru,

042

]
€§ @ 4-M3x0.5P Thru
¢

8 o Lz ] e
Motor Adaptor Flange F1 Motor Adaptor Flange F3
44 5 44
Ko R N I - N
i ] & " 5 i
iﬁkJ+ ST - g%ﬁw — ¥ =
,,,,,,,,,,,,,, o S8 Y &%){ % e ﬁ S
1 m T A Y
4-M2.6xgr/P
P.C.D.33
Motor Adaptor Flange F2
44 5
1.5 25 HEMN
o 30
A= 5 EIR
,,,,,,,,,,,,,, sie res R,
= BI=ZI8)| 9
4-@3.5 THRU,@6x3.5 DP.
P.C.D.28
Motor Housing FO
49
L‘ L_szf P.C.D.29  4-M3x0.5Px6DP
-8
{EEEE MEEe
— -i( 777777 ] IS ,‘ng‘ @E‘Kl %Q
Motor Adaptor Flange F1 Motor Adaptor Flange F3
v@; 49
8.5 ;
‘ 32 4-M4x0.7Px8.5 DP Q' ‘
s — G =, &
4;‘1$ L 1R s¢| g S — | s
I R ER - EESEEE
— L[58 y
Motor Adaptor Flange F2 Mount Housing HO
49 85 ., 4-M3x0.5Px8.5DP P.C.D. 45 2148
1T 9
| | ‘r; Hﬁ & ._“
{s=mmiin L5 |
= 48 u g —

D6x3.5DP

%g

|
13
275

Danh7

% @

0.5



HIWIN
K99TE16-1904

KK50

Motor Housing FO

60
14 34
6.5 4-M3x0.5Px6 DP
‘FE P.C.D. 33
I
[l B N&
4 —1Ts - oA °
[ S G{}QF
:i Zf-iTg& )a/ é
g o
Motor Adaptor Flange F1 Motor Adaptor Flange F3
60 .5 60 7
14 34 3.2 14 34
165 A-MA)S]g%xi.és DP s 49.4 /.égs.assngu
.L.D. = X3.
| ; i10 il —\# /\5‘ . 10 ‘ ‘ 31 Vs
T 14 =T Bt o i [ & &
=y o el = el
gl °le \ T, I i g S| Y e
iy = Fi e i{%{@% 1 = = ’@,\/@? Ei
8 g‘ Tho s 49
Motor Adaptor Flange F2 Mount Housing HO
60 .5,
14 34 3.2 14 _16.5
65 4-M3x0.5Px8.5 DP ‘ _ 494 4-M3x0.5Px8 DP
‘TE P.C.D. 45 T
! e
L I P L
IR S (N
of | o
Motor Housing FO Motor Adaptor Flange F3
- i;s 59 10 4-M5x0.8Px10 DP
; - 4-M4x0.7Px8 DP 185 305 3
153, P.C.D. 40 55 ® oy B
9 =~ .
A 9 —h
iz o el [eme
=0 " (f o |l g T, N
i g ERENZEE i i3 L OFe ||
— 3 =gy = iEnn ]
8 g[ 4-M3x0.5Px8 DP L § 60
Motor Adaptor Flange F1 Motor Adaptor Flange F4
59 10 59 10 4-M4x0.7Px10 DP
18.5 _30.5 3.5 4-M4x0.7Px10 DP 18.5 30.5 3
15.5 P.C.D. 46 15.5, % %
9 \ 9 il ( )
i 11 v L % | B i ik p— %5\% 3
= " (] L | B -1 (5 of % B | °
= T 188 3 m( %g&% 1, p= § s ° o
— Tg ! M ] R — | o]
s m[ 042 _ § 057.7
Motor Adaptor Flange F2 Motor Adaptor Flange F5
59 10 59 s
18.5 305 3.5 4-M3x0.5Px10 DP 18.5_30.5 59.6
15.5, P.C.D. 45 15.5, 31
’ 4 ’ + e
U - - PN /\L‘_" ] .
0" (0 ﬁfgﬁ;ﬁ =it % 3T @ CERN
— = B e JI [ S s S
= v o [ 4-03.4 THRU
s m[ 042 3 2 @éx4 DP
Mount Housing HO Mount Housing H1
18 _ 16 59.6 18 59.6

15

.

4-M4x0.7Px15 DP

115, 0 ‘ 33 4-M4x0.7Px15 DP
\ | — }
==

|
O, &
230 4;;
445
S

E
- 3 @(C?@ & S
8 3 w @ b
T kel j RS
Q Q




KK80

Motor Housing FO

88
23 51 4-M5x0.8Px10 DP
.28 _ P.C.D. 70
18| || 35 %
E — PN \‘é
S p==mm A 2
9 o | Y &
— | 18 8[?\ :\/n&%;@ Te
2 4-M£x0.7Px8 D
P.C.D. 60
Motor Adaptor Flange F1
88 10
23 51 3.5
.%. 4-M4x0.7Px10 DP
PCD.70 _
up ; ¥ ﬁ
—1 = 2[se ] (o
= gz s m‘ &L
RN L S S ' a $
u‘)‘ 162
Motor Adaptor Flange F2
88 8
23 2851 4-M4x0.7Px8 DP
.28 P.C.D. 46
18
| + L
:_qm ; @F@x@/\d‘a
= | Q —f+
- \ 3 ©lwfio] ol L7 el
] | olo ® 8 &
= m[ R\“}\Eaf/
% Pl |

Motor Adaptor FlanSe F3

88 8
23 2851 4-M3x0.5Px8 DP
|.28_ P.C.D. 45
18
l F 9| §
S (S R N s 7=y
_ i =3
— | S 10[2 \& ‘@
] - %ﬁ o= 8
]
< o2
o
©
1=
Mount Housing HO
23 28
20 79
18
2‘ ‘40 ‘ 4-M5X0.8PX10 DP
i 7
lﬂf = @ #
éf 315 o S
H[** 3 ml ® ag
H— St il g
=
B
S o

Motor Adaptor Flange F4

88

12

4-M5x0.8Px12DP
PCD 90

)
>

o
b
95

4-M4x0.7Px8 DP

HIWIN
K99TE16-1904

63

23 51 35
28
18
:_ﬂﬂ A el
=TT 88
| | Q
Motor Adaptor Flange F5
88 8
23 51
28
18|
— 0" BN
EERS]
B

Motor Adaptor Flange Fé

®

8

23

o1 |

|

N
®

|

J

@46

0.08
938.130:03

50

|50
62

4-M4x0.7Px8 DP

T 5

k? 9
\ “’@@9“’
i <

47.14

63
30.5
0.5

43



HIWIN
L4 K99TE16-1904

KK86

Motor Housing FO Motor Adaptor Flange F4
23 8570 87 12
e o, 4-M4x0.7Px8DP 85 23, 50 3.5 85
—— §
%T Lo ' & 5
|18 I ozl s \ o
SR I N | I /_ 8
s —° o w5 ~
P.C.D.JZ?O/
4-M5x0.8Px12 DP
Motor Adaptor Flange F1 Motor Adaptor Flange F5
87 10 87 8
23, 50 35 23, 50 85
28
5] 8 i —*—
'll" = /\\\ —wJ L é, TN
& =
q 2w sl = L Il |59 of & o ' o
! - é?;ﬁ & J’ 2 i :f*‘“"§§ﬁ [rel @% ] _ ©|
S B o 8 lo AQ@/; — ] i ?\%,)? i
{ oo A4 _ 4-M4x0.7Px8DP_ |
4-M4x0.7Px10 DP
Motor Adaptor Flange F2 Motor Adaptor Flange F6
87 8 87 8
23 50 23__ 50 85
28 85 |28 _ 47.14

v o

—] th:ﬂﬁégg

)
©

162

&

]
B
T
-

W
pos s
D46
162
7@«@44
%@‘ ¢

|

=
4-M4x0.7Px8 DP |

Motor Adaptor Flange F3 Mount Housing HO
87 . 8 23__ 28
23__ 50 7%—0- RE:R o 4-M5x0.8Px12 DP

e
S g&

]
@40h8
64

@
20

NS

=
T
2803 ofj
246
(162

28h7|
1

v ]
=t




KK100

Motor Housing FO

94
27 45
32 99
4-M5x0.8Px10 DP
22 ~ P.C.D. 70 75 P
[T s . \Y;
e — Le: ®
— 1 2 K
Motor Adaptor Flange F1
94 12 4-Mé6x1Px12 DP
3.5 P.C.D.90 80
=
[ET1 L]0 = 2y
1 =3
A | <l 52 o
ety = W
EhiiasHIELINCE )8
| ! (B
L * =
MotorAdaptor Flange F2
94 2
35 4-M5x0.8Px12 DP
‘ - P.C.D.90 80
_|| T - j »‘—%
il e 7N
1] o % 1
=R B é\@)?*
= [ ts o ekl
Il ¥
—
Motor Housing FO
100
35_35_ 135 8-Méx1Px12 DP 128
29 = -
; B 100 -
T S o S %
| L] o 7 -
—_— 3T Q /
— 2z 2 e ’
— O | S g_i 419 &,
TS S
o
Q)
S
&
Motor Adaptor Flange F1
128
100 12 4-M5x0.8Px12 DP 92
v S
) ‘%[D
— 20
— [ | | 8
Motor Adaptor Flange F2
10 1 4-6.5x15 DP. 128
0 : 3.5 R
u =3
—ED mi-a
— 3%
= [ S
L.

HIWIN
K99TE16-1904

Motor Adaptor Flange F3
94 12
2.5 4-Méx1Px12 DP
[ET1 L
| ofSe
3 = 3T =
= I8 i
—— ——
= !
Motor Adaptor Flange F4
94 12
2.5 4-M6x1Px12 DP
T [ I
| Sol
‘ 79
et s
- R I 2
[ a

59
27 32
16 ‘3;
= 5
— l\‘
B
o~
s
Motor Adaptor Flange F3
100 12 4-M6x1Px12 DP
3.5
y E
—_] 0= g gg
— g
S
Motor Adaptor Flange F4
100 12 4-M5x0.8Px12 DP
3.5
T
= Tigs
— g%
— [ 8

@15h7 [T

45



HIWIN
L6 K99TE16-1904

2.11 Optional Accessories

LT

L]
Unit : mm
Nominal Width Rail Length Stroke Min. Max. a b c d
75 22 15 37
100 37 20 57
125 52 25 77
KK30 150 67 10 97 47 22.5 15.5 23
175 82 85 117
200 97 40 137
100 35 16 51
KK40 150 63 27 90 60 29.5 19 33
200 93 B 130
150 60 21.5 81.5
200 o5 29 124
KKS0 250 130 36.5 166.5 Z = 19 47
300 160 46.5 206.5
150 56 16 80
200 106 20 126
300 166 40 206
KK60 400 234 54 290 84 45.5 24 54
500 306 70 376
600 366 90 456
340 181 42 223
440 257 54 311
540 333 66 399
KK80 640 409 78 487 106 62.5 34.5 75
740 485 90 575
940 649 108 757
340 188 36 224
440 260 50 310
540 336 62 398
KK86 640 408 76 484 110 61 32 75
740 480 90 570
940 640 110 750
980 769 58 827
1080 855 65 920
KK100 1180 945 70 1015 150 73 41 95
1280 1029 78 1107
1380 1115 85 1200
980 748 62 810
1180 916 78 994
KK130 1380 1084 94 1178 180 89 53 108

1680 1346 113 1459



2.12 Switch

Switch rail

Switch

Nominal Width

KK40
KK50
KKé60
KK80
KK86
KK100
KK130

Switch 1: Omron EE-SX671

Nominal Width

KK40
KK50
KK60
KK80
KK86
KK100
KK130

a

41.5
455
51
61
63.5
71
85.5

36.5
41.3
46.2
56
59
66
80.8

Switch 2 : Omron EE-SX674

0.8

24

C

63.8
74
76.7
84
98.5

52.8
63
65.7
73
87.5

14.5
19
18
20
24

4.2
-4.1

HIWIN

K99TE16-1904

12
"
13
18
18
20
23.5

47



HIWIN
48  K99TE16-1904

Nominal Width g h i j
KK40 40 5.5 13.5 5.5
KK50 39.5 5.7 7 19.5
KKé60 445 9 2 9
KK80 54 12 2 13
KK86 57 13 1 13
KK100 64.5 15 2.5 15
KK130 79 19 -6 19

Switch 3: PANASONIC GX-F12A
Switch 4 : PANASONIC GX-F12A-P

< {}? —_
e HE:

Nominal Width g h
KK30 28 1.8 5.8 1.8

Switch 5 : YAMATAKE APM-D3B1-03



